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-+ B (EH) FHEX EMXK EEX BHKRK FTEX #8XK —BX HtX #BHHX XX EIX #HEKXK €RX 24K =K #X BHEX LBEX HKX #iuX | Lt
1/100m 6 8 4 3 5 3 2 36

2/200m 10 11 5 [ 2 36

3/400m 9 17 3 1 6 36

4/800m 12 7 6 2 8 36
5/1500m 3 7 4 6 8 5 1 36
6/5000m 1 9 8 10 6 2 36
71(ZEH) 8 8

7 &5t 36 36
8 &£t 7 14 3 5 4 35
9 &5t 17 16 2 36
0 28 28

11/10000mW 7 5 12
12/(ZH) 36 36
13/(ZH) 36 36
14/(ZH) 36 36

15/4 X 100mR 8 5 6 2 7 4 3 1 36

16/4 X 400mR 7 8 3 4 1 5 2 6 36

21| ES Bk 12 3 7 5 33

22 HE Bk 11.5 45 6 22

23| FETRBk 8 4 7 14 2 1 36

24| = E& Bk 12 8 7 7 2 36

25 Fah % 21 9 2 3 35

26 Mg 5 4 13 8 5 36

27| \ow—1% 6 3 9

28| PY % 2 11 4 5 8 36

31| EiEsRi 7 2 9

i 180 1635 27 1205 28 53 26 36 25 49 27 29 5 5 5 3 2 803




